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TNPSC Group 2 Model Question Paper 3 

General Studies 

1. Match the following List I with List II and choose the correct answer from the codes given below: 

  List I    List II 

 (a) Temperature   1. Kilogram 

 (b) Luminous intensity  2. Ampere 

 (c) Electric current   3. Candela 

 (d) Mass    4. Kelvin 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 1 2 4 3 

 (C) 4 3 2 1 

 (D) 2 1 4 3 

 Ans - (C) 4 3 2 1 

gl;bay; I -cld; gl;bay; II Ig; nghUj;Jf. fPNo Fwpg;gpl;Ls;s FwpaPLfspy; ,Ue;J rhpahd 
tpiliaj; Njh;e;njL : 

  gl;bay; I  gl;bay; II 

(a) ntg;gepiy   1. fpNyhfpuhk; 
(b) xspr;nrwpT   2. Mk;gpah; 
(c) kpd;Ndhl;lk;  3. Nfz;lyh 
(d) epiw   4. nfy;tpd; 

 (a) (b) (c) (d) 

(A) 3 4 1 2 

 (B) 1 2 4 3 

 (C) 4 3 2 1 

 (D) 2 1 4 3 

 Ans - (C) 4 3 2 1 

2. Faraday’s laws of electrolysis are related to  

 (A) Atomic number of the cation  (B) Atomic number of the anion 

 (C) Equivalent weight of the electrolyte  (D) Speed of the cation 

 Ans - (C) Equivalent weight of the electrolyte 

 ghuNl kpd;dhw;gFg;G tpjpfSld; njhlh;GilaJ 
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(A) Neh;kpd; madpapd; mZ vz;  (B) vjph;kpd; madpapd; mZ vz; 

(C) kpd;gFspapd; rkhd vil   (D) Neh;kpd; madpapd; Ntfk; 

 Ans - (C) kpd;gFspapd; rkhd vil  

3. Parasitic plants obtain the required food through special roots called 

 (A) Tentacles  (B) Clinging roots  (C) Haustoria  (D) Saprophytes 

 Ans - (C) Haustoria 

Xl;Lz;zpj; jhtuq;fs; jkf;Fj; Njitahd czTg; nghUl;fis cwpQ;rpf;nfhs;s ngw;Ws;s 
rpwg;ghd Nth;fspd; ngah; vd;d? 

(A) czh;ePl;rp    (B) gw;WNth;   

(C) `h];Nlhhpah   (D) klFz;zpj; jhtuq;fs; 

 Ans - (C) `h];Nlhhpah  

4. Consider the following statements and choose the correct answer 

 (a) Peroxisome and glyoxisome are microbodies. 

 (b) Peroxisome is present in the castor seed. 

 (A) (a) is correct (b) is wrong  (B) (b) is correct (a) is wrong 

 (C) (a) and (b) are correct  (D) (a) and (b) are wrong 

 Ans - (A) (a) is correct (b) is wrong 

 fPo;fz;l $w;Wfisf; ftdpj;J rhpahd tpiliaj; Njh;e;njLf;fTk; 

(a) nguhf;]pNrhk; kw;Wk; fpisah]pNrhk; ikf;NuhgB]; vdg;gLk;. 
(b) Nguhf;]pNrhk; Mkzf;F tpj;jpy; cs;sJ. 

 (A) (a) rhp (b) is jtW    (B) (b) rhp  (a) is jtW 

 (C) (a) kw;Wk; (b) ,uz;Lk; rhp   (D) (a) kw;Wk; (b) ,uz;Lk; jtW 

 Ans - (A) (a) rhp (b) is jtW  

5. Consider the following statements and select your answer. 

 Assertion (A)  : Fermentation results in the production of ethanol and carbon dioxide. 

 Reason (R)  : It is an anaerobic process carried out by yeast cells. 

(A) Both (A) and (R) are true and (R) is the correct explanation for (A) 

(B) Both (A) and (R) are true and (R) is not the correct explanation for (A) 

(C) Both (A) and (R) are false 

(D) (A) is true but (R) is false 

Ans - (A) Both (A) and (R) are true and (R) is the correct explanation for (A) 

fPo;fz;l $w;Wfis ftdpj;J rhpahd tpiliaj; Njh;e;njLf;f : 
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$w;W (A) : nehjpj;jypd; NghJ (vj;jdhy;) My;f`hy; kw;Wk; fhh;gd;ilMf;i]l;      
ntspaplg;gLk; 

fhuzk; (R) : nehjpj;jy; xU fhw;wpyh Rthrk;. ,J <];l; nry;fspy; eilngWfpwJ. 

(A) (A) kw;Wk; (R) ,uz;Lk; rhpahdit> NkYk; (R) (A) tpw;fhd rhpahd tpsf;fkhFk; 

(B) (A) kw;Wk; (R) ,uz;Lk; rhpahdit> NkYk; (R) (A) tpw;fhd rhpahd tpsf;fky;y 

(C) (A) kw;Wk;(R) ,uz;Lk; jtwhdit 

(D) (A) rhpahd Mdhy; (R) jtwhdJ 

Ans - (A) (A) kw;Wk; (R) ,uz;Lk; rhpahdit> NkYk; (R) (A) tpw;fhd rhpahd  

tpsf;fkhFk; 

6. Dopamine is a  

 (A) Protein  (B) Carbohydrate  (C) Nutrient  (D) Drug 

 Ans - (D) Drug 

 Nlhg;gikd; vd;gJ xU  

(A) Gujk;     (B) fhh;Nghi`l;Nul;   

(C) rj;Jg;nghUs;    (D) Nghijg;nghUs; 

Ans - (D) Nghijg;nghUs; 

7. Choose the incorrect pair regarding the Vedangas 

 (a) Siksha  -  Pronounciation 

 (b) Kalpa  - Rituals 

 (c) Vyakarna  - Astronomy 

 (d) Nirukta  - Etymology 

 (A) (a)   (B) (b)   (C) (c)   (D) (d) 

 Ans - (C) (c)  

 fPo;f;fz;l midj;J ,izfSk; Ntjhq;fq;fisg; gw;wpaJ. ,jpy; jtwhd ,iz vJ? 

 (a) rpf;\h  - cr;rhpj;jy; 

 (b) fy;gh  - rlq;Ffs; 

 (d) tpahfh;dh  - thdrh];jpuk; 

 (d) epUf;jh  - nrhy;ypyf;fzKk; nrhy;ypd; tuyhWk; 

 (A) (a)   (B) (b)   (C) (c)   (D) (d) 

 Ans - (C) (c)  

8. The Dutch East India company setup their head quarters at 
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 (A) Goa  (B) Nagapatnam (C) Bombay  (D) Daman 

 Ans - (B) Nagapatnam 

 lr;R fpof;fpe;jpa fk;ngdp jd;Dila jiyikaj;ij epWtpa ,lk; 

 (A) Nfhth  (B) ehfg;gl;bdk; (C) gk;gha;  (D) lhkd; 

 Ans - (B) ehfg;gl;bdk; 

9. Match List I with List II correctly and select your answer using the codes given below: 

  List I    List II 

 (a) First Carnatic war   1. 1764 

 (b) Third Carnatic War   2. 1746-48 

 (c) Battle of Plassey   3. 1758-63 

 (d) Battle of Buxar   4. 1757 

 Codes : 

  (a) (b) (c) (d) 

 (A) 2 1 4 3 

 (B) 4 1 2 3  

 (C) 3 4 2 1 

 (D) 2 3 4 1 

 Ans - (D) 2 3 4 1 

gl;bay; I-y; fhz;gtw;iw gl;bay; II-cld; nghUj;jp> fPo; nfhLf;fg;gl;Ls;s FwpaPLfs; 
cjtpAld; rhpahd tpiliaj; Njh;T nra;f. 

  gl;bay;  I   gl;bay; II 

(a) Kjy; fh;ehlfg; Nghh;  1. 1764 
(b) %d;whk; fh;ehlfg; Nghh;  2. 1746 – 48 
(c) gpshrpg; Nghh;   3. 1758 – 63 
(d) gf;]hh; Nghh;   4. 1757 

FwpaPLfs; :  

  (a) (b) (c) (d) 

 (A) 2 1 4 3 

 (B) 4 1 2 3  

 (C) 3 4 2 1 

 (D) 2 3 4 1 

 Ans - (D) 2 3 4 1 
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10. Under the 13
th
 Finance Commission, the highest fund transfer was made to which state? 

 (A) Andhra Pradesh    (B) Bihar 

 (C) Uttar Pradesh    (D) Tamil Nadu 

 Ans - (C) Uttar Pradesh 

 13-tJ epjpf; FOtpd; fPo;> mjpfgl;r epjp xJf;fPL ve;j khepyj;jpw;F jug;gl;lJ? 

 (A) Me;jpug;gpuNjrk;    (B) gPfhh; 

 (C) cj;jpug;gpuNjrk;    (C) jkpo;ehL 

 Ans - (C) cj;jpug;gpuNjrk; 

11. In which sector, Masani Committee was set up? 

 (A) Railways     (B) Sea Transport   

(C) Air Transport    (D) Road Transport 

Ans - (D) Road Transport 

 khrhzpf; FO ve;jj; Jiwapy; mkh;j;jg;gl;lJ? 

(A) ,uapy;Nt     (B) fly; Nghf;Ftuj;J 

(C) thd; Nghf;Ftuj;J    (D) rhiy Nghf;Ftuj;J 

Ans - (D) rhiy Nghf;Ftuj;J 

12. Which programme was started with the objective of reducing scarcity in rural areas by the construction of 

civil works of permanent nature? 

 (A) Small Farmers Development Agency   

(B) Rural Works Programme 

 (C) Integrated Rural Development Programme   

(D) Mahatma Gandhi National Rural Employment Guarantee programme 

 Ans - (B) Rural Works Programme 

ve;jj; jpl;lk;> epiyahd fl;Lkhdg; gzpfis cUthf;Ftjd; %yk; fpuhkg;Gwq;fspy; 
gw;whf;Fiwia Fiwf;Fk; Nehf;fpy; Jtq;fg;gl;lJ? 

(A) rpW tptrhapfs; Kd;Ndw;w Kfik 
(B) fpuhkg;Gw gzp jpl;lk; 
(C) xUq;fpize;j Cuf tsh;r;rpj; jpl;lk; 
(D) kfhj;kh fhe;jp Njrpa fpuhkg;Gw Ntiy fhg;GWjp jpl;lk; 

Ans – (B)  fpuhkg;Gw gzp jpl;lk; 

13. Who advocated tax on expenditure? 

 (A) Bimaljalan  (B) N.Kalder  (C) Kenneth Arrow (D) Paul Samuelson 
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 Ans - (B) N.Kalder 

 nryT thpia mwpKfg;gLj;jpath; ahh;? 

 (A) gpkhy;[yhd; (B) N. fhy;lh;  (C) nfd;dj; MNuh (D) ghy; rhKNty;rd; 

 Ans - (B) N. fhy;lh; 

14. Non intervention of the Govt. in production activities – the policy is called 

 (A) Laissez-Faire policy   (B) Macro Economic Policy 

 (C) Monetary Policy   (D) Govt. Policy 

 Ans - (A) Laissez-Faire policy  

 cw;gj;jp eltbf;iffspy; muR gq;F nfhs;shky; ,Uf;Fk; nfhs;if 

(A) jiyaplhf; nfhs;if  (B) Nghpay; nghUshjhu nfhs;if 

(C) gztpay; nfhs;if  (D) murpd; nfhs;if 

 Ans - (A) jiyaplhf; nfhs;if 

15. What was the main theme of 2015 Republic Day Parade? 

 (A) Green revolution  (B) Women empowerment 

 (C) Clean India   (D) Sava Fuel 

 Ans - (B) Women empowerment 

 2015 k; Mz;L FbauR jpd tpohtpd; gpujhd jiyg;G ahJ? 

 (A) gRik Gul;rp   (B) ngz;fs; Nkk;ghL 

 (C) Rj;jkhd ,e;jpah   (D) vhpnghUs; Nrkpg;G 

 Ans - (B) ngz;fs; Nkk;ghL 

16. Who among the following is called as Grand Old Lady of Indian Nationalism? 

 (A) Vijayalakshmi Pandit  (B) Sarojini Naidu 

 (C) Annie Besant   (D) Ambujammal 

 Ans - (C) Annie Besant 

fPNo nfhLf;fg;gl;lth;fspy; ,e;jpa Njrpaj;jpd; gok;ngUk; ngz;kzp vd;wiof;fgl;lth; ahh;? 

(A) tp[ayl;Rkp gz;bl;  (B) rNuh[pdp ehAL 

(C) md;dp ngrd;l;   (D) mk;G[k;khs; 

 Ans - (C) md;dp ngrd;l; 

17. Who among the following first conceived the idea of the formation of Indian National Army? 

 (A) Rash Behari Bose   (B) Mohan Singh 

 (C) Subash Chandra Bose  (D) Niranjan Singh Gill 
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 Ans - (B) Mohan Singh 

fPo;fhz;gth;fSs; “,e;jpa Njrpa ,uhZtk;” mikf;f Ntz;Lk; vd;w vz;zj;ij Njhw;Wtpj;jth; 
ahh;? 

(A) uh\; ng`hp Ngh];   (B) Nkhfd; rpq; 

(C) Rgh\; re;jpu Ngh];   (D) epuQ;rd; rpq; fpy; 

 Ans - (B) Nkhfd; rpq; 

18. Who among the following wrote the book “India Wins Freedom”? 

 (A) Maulana Abul Kalam Azad   (B) Jawaharlal Nehru 

 (C) Rajendra Prasad    (D) Sardar Vallabhai Patel 

 Ans - (A) Maulana Abul Kalam Azad  

 fPo;fhz;gth;fSs; “,e;jpah tpLjiyia nty;fpwJ” vd;w Gj;jfj;ij vOjpath; ahh;? 

(A) Nksyhdh mGy; fyhk; mrhj;   (B) [t`h;yhy; NeU 

(C) ,uhN[e;jpu gpurhj;     (D) rh;jhh; ty;ygha; gNly; 

 Ans - (A) Nksyhdh mGy; fyhk; mrhj;  

19. Which data communication method is used for sending data in both directions at the same time? 

 (A) Super duplex   (B) Simplex 

 (C) Half duplex    (D) Full duplex 

 Ans - (D) Full duplex 

 ve;j jfty; njhlh;G Kiwapy; jutpid xNu Neuj;jpy; ,U GwKk; mDg;gpl ,aYk;? 

(A) mjpj ,Ujpir   (B) xU jpir 

(C) ghjp ,Ujpir   (D) KO ,Ujpir 

Ans - (D) KO ,Ujpir 

20. Which city is not included in the building of smart cities signed by USTAD? 

 (A) Vishakapatnam (B) Almora (C) Ajmer  (D) Allahabad 

 Ans - (B) Almora 

 USTAD ifnaOj;jpl;l ];khh;l; efu fl;Ljypy; ve;j efuk; rhh;e;jjpy;iy? 

 (A) tprhfg;gl;lzk;   (B) my;Nkhuh 

 (C) m[;kPh;    (D) myfhghj; 

 Ans - (B) my;Nkhuh 

21. Which sector got the highest allocation in the Twelfth Five-Year plan? 

 (A) Energy  (B) Social (C) Transport  (D) Communication 
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 Ans - (B) Social 

 12-tJ Ie;jhz;Lj; jpl;lj;jpy; ve;jj; Jiwf;F mjpf njhif xJf;fg;gl;lJ? 

(A) vhprf;jp Jiw   (B) r%fj; Jiw 

(B) Nghf;Ftuj;Jj; Jiw  (D) njhiynjhlh;Gj; Jiw 

Ans - (B) r%fj; Jiw 

22. Which missile has a range of over 5000 kms. in India? 

 (A) Prithvi – V    (B) Akash – IV 

 (C) ICBM Agni – V   (D) ICBM Agni – VI 

 Ans - (C) ICBM Agni – V 

 ,e;jpahtpy; 5000 fp.K nry;Yk; jpwd; nfhz;l VTfiz vJ? 

 (A) gphpj;tp – V   (B) Mfh\; - IV 

 (C) ICBM – mf;dp – V  (D) ICBM – mf;dp – VI 

 Ans - (C) ICBM – mf;dp – V 

23. India joins the Big-5 preserving the ICBM Big-5 includes the US, Russia, China, -------------- and ---------- 

 (A) Australia, France    (B) Australia, UK 

 (C) France, Poland    (D) France, UK 

 Ans - (D) France, UK 

ICBM apid jf;fitj;Jf; nfhz;L ,e;jpah ‘ngUk;-5’ vd;gNjhL ,izfpwJ. ‘ngUk;-5’ vd;gj 
A.v];> u\;ah> irdh> ---------------- kw;Wk; --------------- ehLfiz Fwpf;Fk;. 

(A) M];jpNuypah> /gpuhd;];  (B) M];jpNuypah> (A.Nf) If;fpa NguuR 

(C) /gpuhd;];> Nghyhe;J  (D) /gpuhd;];> (A.Nf) If;fpa NguuR 

Ans - (D) /gpuhd;];> (A.Nf) If;fpa NguuR 

24. Where was the 18
th
 SAARC Summit held? 

 (A) Bhutan  (B) Nepal  (C) Srilanka  (D) Maldives 

 Ans - (B) Nepal 

 18-tJ rhh;f; cr;rp khehL eilngw;w ,lk; 

(A) G+lhd;  (B) Neghsk;  (C) =yq;fh  (D) khyj;jPT 

Ans - (B) Neghsk;  

25. Consider the following statements. Pick out the correct statement 

I. Sardar Sarovar Narmada Nigam project to create solar energy from the solar panals along the river canals 

of Narmadha. 
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II. Deenadayal Upadhyaya Gram Jyoti Yojana to provide access of electricity to rural households across the 

country. 

(A) I only     (B) II only   

(C) Both are correct    (D) Both are wrong 

 Ans - (C) Both are correct  

 fPo;fz;l $w;iw ftdpj;J rhpahd tpilia Njh;e;njL 

I . rh;jhh; rNuhth; eh;kjh epfhk; jpl;lk; eh;kjh Mw;wpd; fhy;thapd; Nkw;gug;gpy; #hpa gyiffis 
mikj;J kpd;rhuk; jahhpf;Fk; jpl;lkhFk;. 

II. jPdjahs; cgjhah fpuhk N[hjp Nah[dh ehl;bYs;s vy;yh Cuf tPLfspy; kpd;rhuk; 
toq;Ftjw;fhFk;. 

(A) I kl;Lk;    (B) II kl;Lk; 

(C) ,uz;LNk rhp   (D) ,uz;LNk jtW 

 Ans - (C) ,uz;LNk rhp 

26. Insert the missing number 

 2,6,12, 20, 30, 42, 56, ----------- 

(A) 62  (B) 72  (C) 64  (D) 68 

Ans - (B) 72  

gpd;tUk; vz;fspy; tpLgl;l vz;iz fhz;f  

 2,6,12, 20, 30, 42, 56, ----------- 

(A) 62  (B) 72  (C) 64  (D) 68 

Ans - (B) 72  

27. A train 150 metres long passes a telegraph post in 12 seconds. Find the speed of the train  

 (A) 15 km/hr  (B) 30 km/hr  (C) 45 km/hr  (D) 60 km/hr 

 Ans - (C) 45 km/hr  

150 kPl;lh; ePsKs;s Giftz;b xU je;jpf; fk;gj;ij 12 tpdhbfspy; fle;jhy; me;j 
Giftz;bapd; Ntfj;ijf; fhz;f. 

 (A) 15 fp.kP/kzp (B) 30 fp.kP/kzp (C) 45 fp.kP/kzp (D) 60 fp.kP/kzp 

 Ans - (C) 45 fp.kP/kzp 

28. A and B together can complete a work in 15 days. B alone can complete the same work in 45 days. Then. 

 (A) A is twice as good workman as B  (B) B is twice as good workman as A 

 (C) A is thrice as good workman as B  (D) B is thrice as good workman as A 

 Ans - (A) A is twice as good workman as B  
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A kw;Wk; B Nrh;e;J xU Ntiyia 15 ehl;fspy; nra;J Kbg;gh;. ,Nj Ntiyia jdpahf B, 45 
ehl;fspy; nra;J Kbg;ghh; vdpy; 

(A) B ia tpl A ,U klq;F ey;y Ntiyf;fhuh;   
(B) A ia tpl B ,U klq;F ey;y Ntiyf;fhuh;   
(C) B ia tpl A Kk;klq;F ey;y Ntiyf;fhuh; 
(D) A ia tpl B Kk;klq;F ey;y Ntiyf;fhuh; 

Ans – (A) B ia tpl A ,U klq;F ey;y Ntiyf;fhuh;  

29. A, B and C can complete a piece of work in 24, 6 and 12 days respectively, working together they will 

complete the same work in 

 (A) 3 3/7 days  (B) 4 2/7 days  (C) 10 3/7 days  (D) 12 1/4 days 

 Ans - (A) 3 3/7 days  

A, B kw;Wk; C ,th;fs; xU Fwpg;gpl;l Ntiyia Kbj;Jf; nfhs;s vLj;Jf; nfhs;Sk; fhy 
msitfs; Kiwia 24> 6> 12 ehl;fs;. ,th;fs; %tUk; Nrh;e;J xU Ntiyia Kbf;f fhy 
msT 

 (A) 3 3/7 ehl;fs; (B) 4 2/7 ehl;fs; (C) 10 3/7 ehl;fs; (D) 12 1/4 ehl;fs; 

 Ans - (A) 3 3/7 ehl;fs; 

30. In how many years will a sum of Rs. 1,000 becomes Rs.1,331 at 10% per annum compounded annually? 

 (A) 3 Years  (B) 2 Years  (C) 4 Years   (D) 5 Years 

 Ans - (A) 3 Years 

vj;jid Mz;Lfspy;> &.1>000 MdJ Mz;bw;F 10% tl;b tPjk; $l;L tl;b fzf;fpLk; NghJ 
&.1>331 MFk;? 

 (A) 3 Mz;Lfs;  (B) 2 Mz;Lfs;  (C) 4 Mz;Lfs;  (D) 5 Mz;Lfs; 

 Ans - (A) 3 Mz;Lfs;  

31. If the difference between simple interest and compound interest on a certain sum for 3 years at 10% per 

annum is Rs.31, find the sum 

 (A) Rs.3,000  (B) Rs.3,100  (C) Rs.1,000  (D) Rs.2,000 

 Ans - (C) Rs.1,000 

xU njhifia Mz;Lf;F 10 tpOf;fhL tPjj;jpy; 3 Mz;Lf;F tl;bf;F tpLk;NghJ $l;Ltl;b 
kw;Wk; jdptl;b ,tw;wpw;fpilNaahd tpj;jpahrk; &.31 vdpy; mj;njhifiaf; fhz;f. 

 (A) &. 3,000  (B) &. 3,100  (C) &. 1,000  (D) &. 2,000 

 Ans - (C) &. 1,000 

32. Find the value of  

 (A) -4  (B) 4  (C) 3  (D) -3 

 Ans -(A) -4  
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 kjpg;Gf; fhz;f : 

 (A) -4  (B) 4  (C) 3  (D) -3 

 Ans - (A) -4 

33. H.C.F. of 513 and 1134 is 

 (A) 9  (B) 81  (C) 27  (D) 31 

 Ans - (C) 27 

 513 kw;Wk; 1134-d; kPg;ngU nghJ fhuzp 

 (A) 9  (B) 81  (C) 27  (D) 31 

 Ans - (C) 27 

34. Ten years ago, the ages of X and Y were in the ratio 3:1. The ratio of their present ages is 2:1. Their present 

ages are 

 (A) 40, 20  (B) 20, 10  (C) 30, 15  (D) 60, 30 

 Ans - (A) 40, 20 

gj;jhz;LfSf;F Kd;dh; X, Y MfpNahhpd; taJ tpfpjk; 3:1. mth;fspd; jw;Nghija taJ tpfpjk; 
2:1. mth;fspd; jw;Nghija taJ> tUlq;fspy; 

 (A) 40, 20  (B) 20, 10  (C) 30, 15  (D) 60, 30 

 Ans - (A) 40, 20 

35. Three partners A, B, C invest Rs.36,000, Rs.45,000 and Rs.54,000 respectively in a business. Out of a total 

profit of Rs.37,500 C’s share is 

 (A) Rs.12,500  (B) Rs.15,000  (C) Rs.10,000  (D) Rs.15,500 

 Ans - (B) Rs.15,000 

A, B, C Mfpa %th; gq;Fjhuh;fshf cs;s xU tpahghuj;jpy; mth;fs; KiwNa &.36>000. &.45>000 
kw;Wk; &.54>000 vd;wthW KjyPL nra;Js;sdh;. nkhj;j ,yhgk; &.37>500-y; C-d; gq;F 

 (A) &.12,500  (B) &.15,000  (C) &.10,000  (D) &.15,500 

 Ans - (B) &.15,000 

36. Find the odd man out 

 4,9,19,39,79,149,319 

(A) 319   (B) 149   (C) 79   (D) 39 

Ans - (B) 149  

gpd;tUk; thpirapy; jdpg;gl;l vz;iz Njh;T nra;f. 

 4,9,19,39,79,149,319 

(A) 319   (B) 149   (C) 79   (D) 39 
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Ans - (B) 149  

37. How many cubes of 10 cm edge can be put in a cubical box of 1 m edge? 

 (A) 200  (B) 1000 (C) 10  (D) 100 

 Ans - (B) 1000 

1 kPl;lh; tpsk;g msT nfhz;l fdr;rJug; ngl;bapy; 10 nr.kP msT nfhz;l vj;jid 
fdr;rJuq;fis itf;fyhk;? 

 (A) 200  (B) 1000 (C) 10  (D) 100 

 Ans - (B) 1000 

38. How many cubes of 3 cm edge can be cut out of a cuboid of 3 cm x 18 cm x 108 cm? 

 (A) 216  (B) 326  (C) 36  (D) 45 

 Ans - (A) 216  

3 nr.kP x 18 nr.kP x 108 nr.kP msTs;s fd nrt;tfj;jpypUe;J 3 nr.kP tpspk;G msT nfhz;l 
vj;jid fdr; rJuq;fs; ntl;lyhk;? 

 (A) 216  (B) 326  (C) 36  (D) 45 

 Ans - (A) 216  

39. Match the following and choose the correct option : 

  List I    List II 

 (a) G.V. Mavlankar   1. First CAG of India 

 (b) Sukumar Sen   2. First Deputy P.M. of India 

 (c) V.Narahari Rao   3. First Chief Election Commissioner of India 

 (d) Sardar Vallabhai Patel  4. First Speaker of India 

  (a) (b) (c) (d) 

 (A) 4 1 2 3 

 (B) 3 1 4 2 

 (C) 4 3 1 2 

 (D)  4 3 2 1 

 Ans - (C) 4 3 1 2 

 gl;bay; I ia gl;bay;  II cld; xg;gpl;L rhpahd tpilia Njh;e;njLf;fTk; 

  gl;bay; I   gl;bay; II 

(a) G.V. khtyq;fs;   1. ,e;jpahtpd; Kjy; jiyik jzpf;if kw;Wk; 

fl;Lg;ghl;lhsh; 
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 (b)  Rfkhh; nrd;   2. ,e;jpahtpd; Kjy; Jiz gpujkh; 

 (c) V. eu`hp uht;   3. ,e;jpahtpd; Kjy; jiyik Njh;jy; Mizah; 

 (d) rh;jhh; ty;ygha; gNly;  3. ,e;jpahtpd; Kjy; rghehafh; 

  (a) (b) (c) (d) 

 (A) 4 1 2 3 

 (B) 3 1 4 2 

 (C) 4 3 1 2 

 (D)  4 3 2 1 

 Ans - (C) 4 3 1 2 

40. The anti-defection law was passed in 1985 and was incorporated into the Constitution as  

 (A) Schedule VIII    (B) Schedule IX 

 (C) Schedule X     (D) Schedule XI 

 Ans - (C) Schedule X  

1985-y; ,aw;wg;gl;l fl;rp jhty; jil rl;lk;> ,e;jpa murpayikg;gpd; -------------- ml;ltizapy; 
Nrh;f;fg;gl;Ls;sJ. 

 (A) ml;ltiz VIII    (B)  ml;ltiz IX 

 (C) ml;ltiz X    (D) ml;ltiz XI 

 Ans - (C) ml;ltiz X 

41. Which two committees have been set up to enable the financial business of the Parliament? 

 (a) The business advisory Committee   

(b) The estimates committee 

 (c) Select Committee     

(d) The Public Accounts Committee 

 (A) (a) and (b)  (B) (b) and (c)  (C) (b) and (d)  (D) (c) and (d) 

 Ans - (C) (b) and (d)  

 ve;j ,uz;L FOf;fs; ghuhSkd;wj;jpd; epjp rhh;e;j tp\aq;fSf;fhf  

     mikf;fg;gLfpd;wd? 

(a) th;j;jf MNyhrid FO    

(b) kjpg;gPLfs; FO 

(c) njhpTf; FO 

(d) nghJ fzf;Ff; FO 

(A) (a) kw;Wk; (b) (B) (b) kw;Wk; (c) (C) (b) kw;Wk; (d) (D) (c) kw;Wk; (d) 
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 Ans -  

42. In the legislative procedure, if the cut motion aims to reduce the demand by on rupee only the motion will 

be known as 

 (A) Economy cut    (B) Token cut 

 (C)  Disapproval of Policy cut   (D) Minimum cut 

 Ans - (C)  Disapproval of Policy cut  

rl;lkpaw;Wk; Kiwapy; Njitia xU &gha; Fiwf;FkhW xU ntl;Lj; jPh;khdk; 
nfhz;Ltug;gl;lhy; mJ ----------------- MFk;. 

 (A) nghUshjhu ntl;L    (B) Nlhf;fd; ntl;L 

 (C) nfhs;if kWg;G ntl;L   (D) Mff; Fiwe;j ntl;L 

 Ans - (C) nfhs;if kWg;G ntl;L 

43. Under which case the Supreme Court of India held that the preamble is the part of the constitution? 

 (A) Golaknath Case   (B) Kesavananda Bharati Case 

 (C) Minerva Mill Case   (D) Subbarao Case 

 Ans - (B) Kesavananda Bharati Case 

ve;j tof;fpy;> ,e;jpa cr;r ePjpkd;wk;> KfTiu vd;gJ ,e;jpa murpay; rhrdj;jpd; xU gFjp 
jhd; vd;W jPh;g;G toq;fpaJ? 

 (A) Nfhyf;ehj; tof;F    (B) Nfrtee;jh ghujp tof;F 

 (C) kpdh;th kpy; tof;F   (D) Rg;ghuht; tof;F 

 Ans - (B) Nfrtee;jh ghujp tof;F 

44. Among the followings, which is one of the richest coastal regions of Asia? 

 (A) Gulf of mannar    (B) Sundarbans 

 (C) Pitchavaram    (D) Chilka lake 

 Ans - (A) Gulf of mannar 

 fPo;f;fz;ltw;Ws;> Mrpahtpd; tsk; nghUe;jpa fly; gpuNjrk; vJ? 

(A) kd;dhh; tisFlh    (B) Re;jutdf; fhLfs; 

(C) gpr;rhtuk;     (D) rpy;fh Vhp 

 Ans - (A) kd;dhh; tisFlh  

45. The Term “Wildlife” was Coined by 

 (A) Vernandsky     (B) Willium Hendry 

 (C) Willium Hornady    (D) Karl Mobius 

 Ans - (C) Willium Hornady 
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 gjk; “Wildlife” vd;gij ahh; Kjypy; Kd;nkhope;jhh;? 

(A) nth;dhd;];fp   (B) tpy;ypak; n`d;wp 

(C) tpy;ypak; `hh;dhNl  (D) fhh;y; Nkh/gp]; 

 Ans - (C) tpy;ypak; `hh;dhNl 

46. Match the following : 

 Tiger Reserves in India 

 (a) Bhadra   1. Madhya Pradesh 

 (b) Gir    2. Mizoram 

 (c) Kanha   3. Karnataka 

 (d) Dampha   4. Gujarat 

  (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 4 3 1 2 

 (C) 3 4 1 2 

 (D) 3 4 2 1 

 Ans - (C) 3 4 1 2 

 nghUj;Jf : 

 ,e;jpahtpy; Gypf; fhg;gfk; 

 (a) gj;uh   1. kj;jpa gpuNjrk; 

 (b) fph;    2. kpNrhuk; 

 (c) fd;fh   3. fh;ehlfh 

 (d) lhk;gh   4. F[uhj; 

  (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 4 3 1 2 

 (C) 3 4 1 2 

 (D) 3 4 2 1 

 Ans - (C) 3 4 1 2 

47. Which one of the following is not correctly matched? 

 (A) Galena  - Lead 

 (B) Bauxite  - Aluminium 
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 (C) Magnesite  - Magnesium Carbonate 

 (D) Corundum  - Mercuric Sulphide 

 Ans - (D) Corundum  - Mercuric Sulphide 

 fPo;tUtdtw;Ws; vJ rhpahf nghUe;jtpy;iy? 

 (A)  fyPdh  - fhhPak; 

 (B)  ghf;i]l; - mYkpdpak; 

 (C) Nkf;dirl - nkf;dPrpak; fhh;gNdl; 

 (D) Nfhuz;lk; - ghjur ry;ig/l; 

 Ans - (D) Nfhuz;lk; - ghjur ry;ig/l; 

48. If the earth stops rotating, the value of g at the equator 

 (A) increases  (B) decreases  (C) remains constant  (D) becomes zero 

 Ans - (A) increases 

 Gtp Roy;tJ epd;Wtpl;lhy;> epy eLf;Nfhl;Lg; gFjpapy; g-,d; kjpg;G 

(A) mjpfkhFk;  (B) FiwAk;  (C) khwhkypUf;Fk;  (D) RopahfptpLk; 

Ans - (A) mjpfkhFk;  

49. Identify the Incorrect pair 

 I. Length  - Scalar 

 II. Velocity  - Vector 

 III. Weight  - Scalar 

 IV. Momentum  - Vector 

(A) I   (B) II  (C) III   (D) IV 

Ans - (C) III  

jtwhd N[hbia fz;lwpf. 

I. ePsk;  - ];Nfyhh; 
II. jpirNtfk; - ntf;lhh; 
III. vil  - ];Nfyhh; 
IV. ce;jk;  - ntf;lhh; 

(A) I   (B) II  (C) III   (D) IV 

 Ans - (C) III  

50. The principle of gravitational lenses is 

 (A) reflection of light    (B) refraction of light 

 (C) Polarisation of light    (D) bending of light around masses 
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 Ans - (D) bending of light around masses 

 <h;g;G tpy;iyfspd; jj;Jtk; 

 (A) xsp vjpnuhspg;G   (B) xsp tpyfy;  

 (C) xsp jstpisT   (D) epiwfis Rw;wp xsp tisjy; 

 Ans - (D) epiwfis Rw;wp xsp tisjy; 

51. The acid strength of halogen acids is one of the following order 

 (A) HCI > HBr > HF > HI   (B) HI > HBr > HCI > HF 

 (C) HI > HF > HBr > HCI   (D) HCI > HI > HF > HBr 

 Ans - (B) HI > HBr > HCI > HF 

 `hy[dpil mkpyq;fspd; mkpyj; jd;ikia fPo;fz;lthW thpirg;gLj;jyhk; 

 (A) HCI > HBr > HF > HI   (B) HI > HBr > HCI > HF 

 (C) HI > HF > HBr > HCI   (D) HCI > HI > HF > HBr 

 Ans - (B) HI > HBr > HCI > HF 

52. The health is affected by the 

 1. Genetic disorders only   

 2. Deficiency of vitamins and minerals 

 3. Infections only 

 4. Life style of an individual 

 (A) 1,2,3 only    (B) 2,3,4 only 

 (C) 3, 4 only    (D) 1,2 3 and 4 correct 

 Ans - (D) 1,2 3 and 4 correct 

 xUtUila cly; Rfhjhuk; ghjpg;gila fhuzk; 

1. kugpay; NfhshWfs;   
2. tpl;lkpd; kw;Wk; kpduy;fs; FiwghL 

3. njhw;Wfs; kl;Lk; 
4. xUtUila tho;f;if Kiwfs; 

 (A) 1,2,3 kl;Lk;    (B) 2,3,4 kl;Lk; 

  (C) 3, 4 kl;Lk;    (D) 1,2 3 4 rhpahdJ 

 Ans - (D) 1,2 3 4 rhpahdJ 

53. Which one of the following is not an halide ore? 

 (A) Rock salt  (B) Horn silver  (C) Cryolite  (D) Barytes 

 Ans - (C) Cryolite 
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 fPo;fz;ltw;Ws; vit xd;W `hiyL jhJ fpilahJ? 

(A) cg;Gf;fy;     (B) `hh;d; rpy;th;   

(C) fpiuNahiyl;    (D) ghiul;]; 

 Ans - (C) fpiuNahiyl; 

54. The RNA which carries the genetic message from nucleus to the ribosome is 

 (A) hn mRNA  (B) mRNA  (C) tRNA  (D) rRNA 

 Ans - (B) mRNA 

cl;fUtpy; ,Ue;J iuNghNrhk;fSf;F jfty;fis vLj;J nry;Yk; iuNgh epA+f;spf; mkpyq;fs; 
(Mh;.vd;.V) ,it 

(A) vr;.vd;/vl;bNuh epAf;spah; vk;.Mh;.vd;.V  (B) vk;.Mh;.vd;.V 

(C) B.Mh;.vd;.V      (D) Mh;.Mh;.vd;.V 

(B)  Ans - (B) vk;.Mh;.vd;.V 

55. Who discovered Rh blood group? 

 (A) Davenport     (B) Gregor Mendal 

 (C) Hutchison     (D) Landsteniner and wiener 

 Ans - (D) Landsteniner and wiener 

 Rh ,uj;j tifia fz;Lgpbj;jth; ahh;? 

(A) Nltd;Nghh;l;   (B) fphpfhh; nkd;ly; 

(C) `l;rPrd;    (D) yhz;];Bdh; kw;Wk; tpadh; 

Ans - (D) yhz;];Bdh; kw;Wk; tpadh; 

56. Hormone oxytocin is secreted by the 

 (A) Thyroid gland   (B) Adrenal gland 

 (C) Pituitary gland   (D) Parathyroid gland 

 Ans - (C) Pituitary gland 

 Mf;]plhrpd; `hh;Nkhd; ve;j Rug;gpapd; `hh;Nkhd; 

 (A) ijuha;L Rug;gp   (B) ml;hpdy; Rug;gp 

 (C) gpl;A+l;lhp Rug;gp   (D) ghuhijuha;L Rug;gp 

 Ans - (C) gpl;A+l;lhp Rug;gp 

57. Kanthaka was the name of 

 I. Buddha’s Charioteer 

 II. Buddha’s Horse 
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 III. A sage who taught Buddha about Meditation 

V. One of the favourite disciple of Buddha 

(A) I  (B) II  (C) III  (D) IV 

 Ans - (B) II 

fe;jfh vdg;gLtJ 

I. Gj;jhpd; NjNuhl;b 

II. Gj;jhpd; Fjpiu 
III. Gj;jhpd; jpahdk; nra;a fw;W nfhLj;j Qhdp 
IV. Gj;jhpd; gphpakhd xU rPlh; 

(A) I  (B) II  (C) III  (D) IV 

 Ans - (B) II 

58. Which Deccan King had the title of “Abla baba” or “Friend of the poor?” 

 (A) Quli Qutb Shah    (B) Ibrahim Adil Shah II 

 (C) Nizam Shah     (D) Ali Adil Shah 

 Ans - (B) Ibrahim Adil Shah II 

 ve;j jf;fhz murh; “mg;yh ghgh” (m) “Viofspd; ez;gh;” vd;w gl;lj;ij ngw;wpUe;jhh;? 

(A) Fyp FJg; \h   (B) ,g;uh`pk; mby; \h II 

(C) ierhk; \h   (D) myp mby; \h 

 Ans - (B) ,g;uh`pk; mby; \h II 

59. The textile dealers of Tamilnadu were known as 

 (A) Vanigar   (B) Umanar 

 (C) Aruvai Vanigar  (D) Yavanas 

 Ans - (C) Aruvai Vanigar 

 jkpofj;ijr; Nrh;e;j Jzp tzpfh;fs; ------------- vdg;gl;ldh;. 

(A) tzpfh;   (B) ckzh; 

(C) mWit tzpfh;  (D) atdh;fs; 

 Ans - (C) mWit tzpfh; 

60.  The “Queen of Arabian Sea Port” is 

 (A) Kandla  (B) Mumbai  (C) Kochi  (D) Marma Goa 

 Ans - (C) Kochi 

 “mugpf;flypd; uhzpj; JiwKfk;” vdg;gLtJ 

(A) fz;l;yh  (B) Kk;ig  (C) nfhr;rp  (D) kh;kNfhth 
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Ans - (C) nfhr;rp 

61. Which is wrongly matched? 

 (a) Ramakrishna Mission  - Swami Vivekanand 

 (b) Brahmo Samaj   - Rajaram Mohan Roy 

 (C) Arya Samaj    -Keshav Chandra Sen 

 (D) Theosophical society  - Annie Besant 

 (A) (a)  (B) (b)  (C) (c)  (D) (d) 

 Ans - (C) (c)  

 jtwhd nghUj;jj;ij fz;Lgpbf;fTk; : 

(a) uhkfpU\;zh kp\d;  - Rthkp tpNtfhde;jh; 
(b) gpuk;k rkh[k;   - uh[huhk; Nkhfd; uha; 
(c) Mhpa rkh[k;   - Nfrt; re;jpunrd; 
(d) gpuk;kQhd rig   - md;dpngrd;l; 

(A) (a)  (B) (b)  (C) (c)  (D) (d) 

 Ans(C) (c)  

62. The scheduled banks are those which are entered in the  

 (A) First Schedule of RBI Act 1934 

 (B) Second Schedule of RBI Act 1934 

 (C) Third Schedule of RBI Act 1934 

 (D) Fourth Schedule of RBI Act 1934 

 Ans - (B) Second Schedule of RBI Act 1934 

 ml;ltizapy; Nrh;f;fg;gl;l tq;fpfs; ve;j ml;ltizapy; ,lk; ngw;Ws;sJ. 

(A) Kjy; ml;ltiz> ,e;jpa hprh;t; tq;fp rl;lk;> 1934 
(B) ,uz;lhk; ml;ltiz> ,e;jpa hprh;t; tq;fp rl;lk;> 1934 
(C) %d;whk; ml;ltiz> ,e;jpa hprh;t; tq;fp rl;lk;> 1934 
(D) ehd;fhk; ml;ltiz> ,e;jpa hprh;t; tq;fp rl;lk;> 1934 

Ans - (B) ,uz;lhk; ml;ltiz> ,e;jpa hprh;t; tq;fp rl;lk;> 1934 

63. Match the following states with their Child Sex Ratio as per census 2011 

  States     Child Sex Ratio 

(a) Kerala   -  1. 946 
(b) Haryana   -  2. 899 
(c) Tamil Nadu   -  3. 959 
(d) Uttar Pradesh  -  4. 830 

(a) (b) (c) (d) 
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 (A) 1 3 4 2 

 (B) 1 2 3 4 

 (C) 3 2 1 4 

 (D) 3 4 1 2 

 Ans - (D) 3 4 1 2 

fPo;ffhZk; khepyq;fis mtw;wpd; Foe;ij ghypd tpfpjj;Jld; (2011 kf;fs; njhifg;gb) 
nghUj;Jf. 

  khepyk;    Foe;ij ghypd tpfpjk; 

(a) Nfush   -  1.  946 
(b) `hpahdh   -  2.  899 
(c) jkpo;ehL   -  3.  959 
(d) cj;ju gpuNjrk;  -  4.  830 

(a) (b) (c) (d) 

 (A) 1 3 4 2 

 (B) 1 2 3 4 

 (C) 3 2 1 4 

 (D) 3 4 1 2 

 Ans - (D) 3 4 1 2 

64. In the system of currency notes, which system is followed in India? 

 (A) Proportional reserve system    (B) Minimum reserve system 

 (C) Maximum reserve system    (D) Fixed reserve system 

 Ans - (B) Minimum reserve system 

 gz Nehl;Lfs; toq;Fjypy;> ,e;jpahtpy; ve;j Kiw gpd;gw;wg;gLfpwJ? 

 (A) tpfpjhrhu fhg;G Kiw    (B) Fiwe;jgl;r fhg;G Kiw 

 (C) mjpfgl;r fhg;G Kiw    (D) epiyahd fhg;G Kiw 

 Ans - (B) Fiwe;jgl;r fhg;G Kiw 

65. Match the following National Leaders with their Journals : 

  Leaders     Journals 

(a) Gopala Krishna Gokhale   1. Young India 

(b) Surendranath Benerjee   2. The Maratha 

(c) Bala Gangadhar Tilak   3. The Bangalee 

(d) Lala Lajapat Rai    4. Sarvajanik Sabha 

(a) (b) (c) (d) 
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(A)  4 3 2 1 

(B)  1 2 3 4 

(C)  2 3 1 4 

(D)  4 2 1 3 

Ans - (A) 4 3 2 1 

fPo;f;fz;l Njrpa jiyth;fis mth;fs; ntspapl;l gj;jphpf;iffSld; nghUj;Jf : 

 jiyth;fs;    gj;jphpf;iffs; 

(a) Nfhghy fpU\;z NfhfNy  1. ahq; ,e;jpah 
(b) RNue;jpuehj; Ngdh;[p   2. jp kuhj;jh 
(c) ghyfq;fhju jpyfh;   3. jp ngq;fhyp 
(d) yhyh y[;gjp uha;   4. rh;t[dpf; rgh 

 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 2 3 4 

(C) 2 3 1 4 

(D) 4 2 1 3 

 Ans - (A) 4 3 2 1 

66. What is special about the following personalities? 

 V.D. Savarkar, Hardayal and Madan Lal Dhingra 

 (A) Congress Memebrs    (B) Members of the India House 

 (C) Participated in Khilafat Movement  (D) Social Reformists 

 Ans - (B) Members of the India House 

 fPo;f;fz;l rpwe;j kdpjh;fspilNa fhzg;gLk; rpwg;G mk;rk; vd;d? 

 V.D. rthh;fh;> `h;jahs; kw;Wk; kjd;yhy; jpq;uh 

 (A) fhq;fpu]; cWg;gpdh;fs;   (B) ,e;jpah `Trpd; cWg;gpdh;fs; 

 (C) fpyhgj; ,af;fj;jpy; gq;F ngw;wth;fs; (D) rKjha rPh;jpUj;jthjpfs; 

 Ans - (B) ,e;jpah `Trpd; cWg;gpdh;fs; 

67. A -------------- is a client program that acts as an interface between user and world wide web.  

 (A) Web Browser  (B) HTML  (C) URL (D) OS 

 Ans - (A) Web Browser 

 --------- nkd;nghUs; gadh; kw;Wk; cyfshtpa tiy ,ilNa xU ,ilKfkhf nray;gLk;. 
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 (A) ,iza cyhtp    (B) vr;.b.vk;.vy; (HTML)  

 (C) A.Mh;.vy;.(URL)    (D) X.v];. (OS) 

 Ans - (A) ,iza cyhtp 

68. Who was the Indian environment activist to be honoured with Goldman Environmental Prize? 

 (A) Ramesh Agrawal   (B) K.C.Uday Singh 

 (C) Veer Ragavan Dubey  (D) Gokul Bhatia 

 Ans - (A) Ramesh Agrawal 

 Rw;Wg;Gwj;jpw;f;fhd jq;fkdpjd; ghpir ntd;w ,e;jpa Rw;Wg;Gw Mtyh; ahh;? 

(A) uNk\; mfuthy;    (B) Nf.rp. cja; rpq; 

(C) tPu uhftd; JNg    (D) NfhFy; ghbah 

 Ans - (A) uNk\; mfuthy; 

69. Sending a legitimate looking email, hoping to gather personal and financial information form the recipient 

of the email is called as 

 (A) Virus  (B) Worm  (C) Phishing   (D) Pharming 

 Ans - (C) Phishing 

xUtUf;F rhjhuzkhf mDg;gg;gLk; kpd;dQ;ry; Nghy kpd;dQ;ry; mDg;gp mtUila jdpg;gl;l> 
epjp rk;ge;jkhd jfty;fis vLf;f Kaw;rpg;gJ ----------- MFk;. 

 (A) itu]; (Virus)    (B) nth;k; (Worm) 

 (C) /gp\pq; (Phishing)     (D) /ghh;kpq; (Pharming) 

 Ans - (C) /gp\pq; (Phishing)   

70. Which state launches e-Raksha centre? 

 (A) Haryana  (B) Gujarat  (C) Maharashtra  (D) Uttarkhand 

 Ans - (B) Gujarat  

 e-uf;\h ikaj;ij Muk;gpf;f Nghfpw khepyk; vJ? 

 (A) `hpahdh  (B) F[uhj;  (C) kfhuh\;buk; (D) cj;jufhz;l; 

 Ans - (B) F[uhj;  

71. Which two countries recently restored their ties after 50 years? 

 (A)  United States  - Cuba 

 (B) United States  - North Korea 

 (C)  Cuba   - Russia 

 (D) Russia   - South Korea 
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 Ans - (A)  United States  - Cuba 

mz;ikapy; ve;j ,U ehLfs; 50 Mz;Lfs; fopj;J jq;fspd; njhlh;ig kPz;Lk; Vw;gLj;jpf; 
nfhz;ld? 

 (A) mnkhpf;fh  - fpA+gh 

 (B) mnkhpf;fh  - tlnfhhpah 

 (C) fpA+gh  -  u\;ah 

 (D) u\;ah  - njd;nfhhpah 

 Ans - (A) mnkhpf;fh  - fpA+gh 

72. 13
th
 NATO Secretary – General, Mr.Jens Stoletenberg belongs to 

 (A) New Zealand (B) Japan (C) Norway  (D) Brazil 

 Ans - (C) Norway 

Nel;Nlh (NATO)tpd; 13-tJ nrful;lhp n[duy; jpU.n[d;]; ];Nlhy;ld;ngh;f; ve;j ehl;ilr; 
Nrh;e;jth;? 

(A) epArpyhe;J  (B) [g;ghd;  (C) ehh;Nt  (D) gpNurpy; 

Ans - (C) ehh;Nt  

73. In which district of Tamil Nadu, the Central Government is decided to set up the Neutrino observatory? 

 (A) The Nilgiris  (B) Theni  (C) Perambalur  (D) Namakkal 

 Ans - (B) Theni 

epA+l;hpNdh Ma;tfj;ij. kj;jpa muR jkpo;ehl;bd; ve;j khtl;lj;jpy; mikf;f KbT nra;Js;sJ? 

(A) ePyfphp  (B) Njdp  (C) nguk;gY}h;  (D) ehkf;fy; 

Ans - (B) Njdp 

74. New approach to conservation is the establishment of  

 (A) Sanctuaries    (B) Biosphere Reserves 

 (C) National Parks   (D) Reserve Forests 

 Ans - (B) Biosphere Reserves 

 fPo;fz;ltw;wpy; ghJfhg;gpy; fhzg;gLk; Gjpa Af;jpfis gad;gLj;JtJ. 

(A) ruhzhyaq;fs;    (B) caph;f; Nfhsq;fs; 

(C) Njrpa G+q;fhf;fs;    (D) fhg;Gf; fhLfs; 

 Ans - (B) caph;f; Nfhsq;fs; 

75. Which is the tribute not belong to Nilgiris District ? 

 (A) Todas     (B)  Paliyar 
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 (C) Kurumbas     (D) Muduras 

 Ans - (D) Muduras 

 

76. The income in 3 months of a person is same as his expenditure in 4 months. If his annual savings is ₹.600. 

What is his monthly income? 

 (A) ₹ 200   (B) ₹ 250  (C) ₹ 300  (D) ₹600 

 Ans - (A) ₹ 200 

xU kdpjhpd; %d;W khj tUkhdk; mthpd; ehd;F khj nryTf;F rkk; vdpy; mtUila tUl 
Nrkpg;G &.600 Mf ,Ue;jhy; mthpd; khj tUkhdk; vt;tsT? 

 (A) &. 200   (B) &.250  (C) &.300  (D) &.600 

 Ans - (A) &. 200 

77. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs.854 in 4 years. Find the sum. 

 (A) Rs.650  (B) Rs.690  (C) Rs.698  (D) Rs.700  

 Ans - (C) Rs.698 

xU njhif> jdptl;bapy; 3 Mz;Lfspy; &.815 MfTk; 4 Mz;Lfspy; &.854 $LjyhfpwJ. 
mj;njifiaf; fhz;f. 

(A) &. 650  (B) &. 690  (C) &. 698  (D) &. 700 

 Ans - (C) &. 698  

78. The capacity of a tank of dimension (8 m x 6 m x 2.5 m) is 

 (A) 120000 liters   (B) 100000 liter 

 (C) 50000 liters    (D) 80000 liter 

 Ans - (A) 120000 liters 

 (8 m x 6 m x 2.5 m) miwfs; nfhz;l fydpd; nfhs;ssT 

(A) 120000 ypl;lh;   (B) 100000 ypl;lh; 

 (C) 50000 ypl;lh;   (D) 80000 ypl;lh; 

 Ans - (A) 120000 ypl;lh; 

79. Find the value of 77-150+366-25 

 (A) 13  (B) 16  (C) 19  (D) 8 

 Ans - (D) 8 

 kjpg;Gf; fhz;f : 77-150+366-25 

 (A) 13  (B) 16  (C) 19  (D) 8 

 Ans - (D) 8 
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80. If 235 = 38 and 452 = 45 then 345 = ? 

 (A) 49  (B) 66  (C) 72  (D) 50 

 Ans - (D) 50 

 235 = 38 kw;Wk; 452 = 45 vdpy; 345 = ? 

 (A) 49  (B) 66  (C) 72  (D) 50 

 Ans - (D) 50 

81. If A : B = 3 : 4 and B : C = 8 : 9 then A : C is  

 (A) 1 : 3   (B) 3 : 2   (C) 2 : 3  (D) 1 : 2 

 Ans - (C) 2 : 3 

A : B = 3 : 4 kw;Wk; B : C = 8 : 9 vdpy; A : C is  

 (A) 1 : 3   (B) 3 : 2   (C) 2 : 3  (D) 1 : 2 

 Ans - (C) 2 : 3 

82. For what value of radius of a sphere, the volume of the sphere is numerically equal to the surface area of 

the sphere 

 (A) 1  (B) 2   (C) 3  (D) 4 

 Ans - (C) 3 

xU Nfhsj;jpd; Muj;jpd; vk;kjpg;Gf;F> Nfhsj;jpd; nfhs;ssT vz;zstpy; mjd; Gwg;gug;gpw;F 
rkk; 

 (A) 1  (B) 2   (C) 3  (D) 4 

 Ans - (C) 3 

83. What is special about this organisations? 

 British India Association, Poona Sarvajanak Sabha and India League 

(A) Founded by A.O. Hume  

(B) Fore runners of the Indian National Congress 

(C) British organisations 

(D) Revolutionary organisations 

Ans – (B) Fore runners of the Indian National Congress 

fPo;f;fz;l rq;fq;fspilNa fhzg;gLk; rpwg;gk;rk; vd;d? 

 gphpl;b\; ,e;jpa rq;fk;> G+dh rh;t[dr; rig kw;Wk; ,e;jpa y_f; 

(A) A.O. P̀ak; Njhw;Wtpj;jit 
(B) ,e;jpa Njrpa fhq;fpurpd; Kd;Ndhbfs; 
(C) Mq;fpNya rq;fq;fs; 
(D) Gul;rpfu rq;fq;fs; 

Ans – (B) ,e;jpa Njrpa fhq;fpurpd; Kd;Ndhbfs; 
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84. The total number of all possible squares in a chess board is 

 (A) 8  (B) 64  (C) 512  (D) 204 

 Ans - (D) 204 

 xU rJuq;f gyifapy; cs;s vy;yh tpjkhd rJuq;fspd; vz;zpf;if 

 (A) 8  (B) 64  (C) 512  (D) 204 

 Ans - (D) 204 

85. What is the least number of square marbles required for a terrace of 15.17 m long and 9.02 m breadth? 

 (A) 1242  (B) 407  (C) 814   (D) 1000 

 Ans - (C) 814  

15.17 m ePsKk; 9.02 m mfyKk; cila xU $iuapd; Nkw;gug;gpy; gjpf;fj; Njitg;gLk; 
Fiwe;jgl;r vz;zpf;ifapyhd rJu tbt gspq;Ff;fw;fs; vj;jid? 

 (A) 1242  (B) 407  (C) 814   (D) 1000 

 Ans – (C) 814  

86. The L.C.M of two numbers is 48. The numbers are in the ration 2 : 3 the sum of the numbers is  

 (A) 35  (B) 40  (C) 60  (D) 111 

 Ans – (B) 40 

,U vz;fspd; kP.rp.k 48. ,t;tpU vz;fspd; tpfpjq;fs; KiwNa 2 : 3 vdpy; mt;tpU vz;fspd; 
$Ljy; 

 (A) 35  (B) 40  (C) 60  (D) 111 

 Ans – (B) 40 

87. The L.CM. of 148 and 185 is 

 (A) 690   (B) 760  (C) 740   (D) 1010 

 Ans – (C) 740 

 148, 185 vd;w vz;fspd; kPr;rpW nghJ klq;F 

 (A) 690  (B) 760  (C) 740   (D) 1010 

 Ans – (C) 740 

88. What will be the simple interest earned on an amount of Rs. 16,800 in 9 months at the rate of 6 ¼% p.a. ? 

 (A). Rs. 697.75  (B) Rs.787.50  (C) Rs.567.30  (D) Rs. 897.60 

 Ans – (B) Rs.787.50 

 &. 16>800f;F 9 khjq;fspy; Mz;Lf;F 6 ¼ % tl;b tPjg;gb fpilf;Fk; jdptl;b 

 (A). &. 697.75  (B) &.787.50  (C) &.567.30  (D) &. 897.60 
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 Ans – (B) &.787.50 

89. Double jeopardy is related to which Article of the Indian Constitution? 

 (A) Art. 21(1)  (B) Art. 20 (2)   (C) Art. 32(1)  (D) Art. 226(2) 

 Ans – (B) Art. 20 (2) 

 ,ul;il ,lh;ghL vd;gJ ,e;jpa murpayikg;gpd; ve;j tpjpapd; fPo; tUfpd;wJ? 

(A) tpjp 21(1)  (B) tpjp. 20 (2)   (C) tpjp. 32(1)  (D) tpjp. 226(2) 

 Ans – (B) tpjp. 20 (2) 

90. To suggest methods of change in recruitment, the UPSC appointed in 1974, a Committee of Recruitment 

and selection methods under the Chairmanship of  

 (A) G.D. Khosla   (B) J.C. Shah 

 (C) R.C. Lahoti    (D) D.S. Kothari 

Ans – (D) D.S. Kothari 

Ml;Nrh;g;G Kiwapy; khw;wk; Vw;gLj;Jtjw;fhf xd;wpa nghJg;gzpahsh; Njh;thizak;. 1974 k; 
Mz;by; Njh;T kw;Wk; Ml;Nrh;g;G FO xd;W ahh; jiyikapy; mikj;jJ? 

 (A) G.D. Nfhryh   (B) J.C. \h 

 (C) R.C. yN`hb   (D) D.S. Nfhj;jhhp 

Ans – (D) D.S. Nfhj;jhhp 

91. Match the following Commissions and their purpose and give correct answer by selecting the options given 

below: 

  Commission    Purpose 

(a) Kalelkar Commission  1. Gandhi Murder case 

(b) Kapur Commission   2. Centre-State relations 

(c) Sarkaria Commission  3. 1984, Anti-Sikh riots 

(d) Nanavathi Commission  4. Backward Class commission 

(a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 2 4 1 3 

 (C) 4 1 2 3 

 (D) 3 4 2 1 

 Ans - (C) 4 1 2 3 

fPNo fhzg;gLk; Mizaq;fis jd; Nehf;fj;Jld; ,izj;J rhpahd tpilia Njh;T nra;aTk;. 

   Mizak;    Nehf;fk; 

(a) fNyy;fh; Mizak;   1. fhe;jp nfhiy tof;F 
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(b) fG+h; Mizak;    2. kj;jpa-khepy cwTfs; 
(c) rh;fhhpah Mizak;   3. 1984 rPf;fpa vjph;g;G fytuk; 
(d) ehehtjp Mizak;   4. gpd;jq;fpa tFg;gpdh; Mizak; 

(a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B)  2 4 1 3 

 (C)  4 1 2 3 

 (D) 3 4 2 1 

Ans – (C)  4 1 2 3 

92. The legal advisor to the state government is 

 (A) Attorney General   (B) Advocate General 

 (C) Auditor General   (D) Comptroller and Auditor General 

Ans – (B) Advocate General 

 khepy murpd; rl;l MNyhrfh; ahh;? 

 (A) ml;lh;dp n[duy;   (B) khepyj;jpd; jiyik tof;fwpQh; 

 (C) Mbl;lh; n[duy;   (D) fk;l;Nuhsh; kw;Wk; Mbl;lh; n[duy; 

Ans – (B) khepyj;jpd; jiyik tof;fwpQh; 

93. The provisions relating to citizenship are embodied in the ---------- of the India constitution 

 (A) Articles 5 to 11 in part II   (B) Articles 6 to 11 in part II 

 (B) Articles 14 to 21 in part II   (D) Articles 5 to 21 in part II 

Ans – (A) Articles 5 to 11 in part II  

FbAhpikia gw;wpa tpjp ,e;jpa murpayikg;G rhrdj;jpd; --------- gFjpapy; Fwpg;gplg;gl;Ls;sd. 

(A) tpjp 5 Kjy; 11 tiu gFjp II  (B) tpjp 6 Kjy; 11 tiu gFjp II 

(C) tpjp 14 Kjy; 21 tiu gFjp II  (D) tpjp 5 Kjy; 21 tiu gFjp II 

Ans – (A) tpjp 5 Kjy; 11 tiu gFjp II 

94. The First Article of the Indian constitution declares India as 

 (A) Republic    (B) Socialist democracy 

 (C) Union of States   (D) Secular State 

Ans – (C) Union of States 

 ,e;jpa murpayikg;gpd; xd;whk; tpjp (Art.1) ,e;jpahit vt;thW Fwpg;gpLfpwJ? 

(A) FbauR    (B) rkjh;k kf;fshl;rp 

(C) khepyq;fspd; xd;wpak;  (D) kjrhh;gw;w ehL 

Ans – (C) khepyq;fspd; xd;wpak; 
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95. Which article of the Indian constitution declares that “the elections to the House of people and to the 

legislative assembly of every state shall be on the basis of adult suffrage”? 

 (A) Article 146    (B) Article 326 

 (C) Article 246    (D) Article 126 

Ans – (B) Article 326 

kf;fsit kw;Wk; khepy muR Njh;jy;fs; taJilNahh; thf;Fhpik Kiw %yk; Njh;e;njLf;f 
Ntz;Lk; vd;W typAwj;Jk; ,e;jpa murpayikg;G tpjp vJ? 

 (A) tpjp 146  (B) tpjp 326  (C) tpjp 246  (D) tpjp 126 

Ans –(B) tpjp 326 

96. Which market is an ideal form of organization which by providing easy liquidity encourages the public to 

invest and this brings out the latent surplus in the economy? 

 (A) Commodity market   (B) Money Market 

 (C) Stock market   (D) Exchange market 

Ans – (C) Stock market 

nghUshjhuj;jpy; ve;j re;ij vspjhd ePh;ikia Cf;Ftpj;J nghJkf;fis KjyPL nra;a J}z;b 
kiwe;Js;s cghpia ntsp nfhzh;fpd;w mikg;G? 

 (A) nghUs; re;ij    (B) gzr; re;ij 

 (C) gq;F re;ij    (D) nryhtzp khw;W re;ij 

Ans – (C) gq;F re;ij 

97. Who was the Chairman of 1
st
 Finance Commission? 

 (A) V.Carnol  (B) S.Benjamin  (C) K.C.Neogy  (D) H.T. Riyog 

Ans –(C) K.C.Neogy 

 KjyhtJ epjp Mizaj;jpd; jiyth; ahh;? 

 (A) V. fh;dy;  (B) S. ngd;[kpd; (C) K.C. epNahfp (D) H.T. hpNahf; 

Ans –(C) K.C. epNahfp 

98. The term “PMAY” relates to 

 (A) Fisheries    (B) Housing  

(C) Stock market   (D) Diamond market 

Ans – (B) Housing 

“PMAY” vd;w nrhy; vijf; Fwpf;fpwJ? 

(A) kPd; rk;ge;jg;gl;l njhopy;   (B) tPL cUthf;Fjy; 

(C) gq;F th;j;jfk;    (D) itu th;j;jfk; 
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Ans –(B) tPL cUthf;Fjy; 

99. Match the following : 

 (a) NH7   1. Tiruchy to Tiruvarur 

 (b) NH 45   2. Pollachi to Dindigul 

 (c) NH 67   3. Madurai to Tirunelveli 

 (d) NH 209   4. Tiruchy to Chennai 

  (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 3 1 2 4 

 (C) 3 2 1 4 

 (D) 3 4 1 2 

 Ans – (D) 3 4 1 2 

 nghUj;Jf : 

(a) NH7   1. jpUr;rp – jpUth&h; 

 (b) NH 45   2. nghs;shr;rp – jpz;Lf;fy; 

 (c) NH 67   3. kJiu – jpUney;Ntyp 

 (d) NH 209   4. jpUr;rp – nrd;id 

   (a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 3 1 2 4 

 (C) 3 2 1 4 

 (D) 3 4 1 2 

 Ans - (D) 3 4 1 2 

100. ‘King of Fibres’ is 

 (A) Cotton (B) Jute  (C) Hemp  (D) Flax 

 Ans - (A) Cotton 

 ehh;g;gaph;fspd; murd; vdg;gLtJ 

(A) gUj;jp  (B) rzy;  (C) Gspr;ir ehh;  (D) ehzy; 

Ans - (A) gUj;jp 


